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2.2 Practice Problems

Find the domain and range for the following relation.
L {(-3,-7),(-1,-3),(0,-1),(23), (4 7}}

D:-£-5-10,24 K €7 -¢§7j

Determine whether each of the following relations/graphs is a functlon

2. {(0,0),(1,1), (4, 2), (1, -1)} /\/9

3. {(—4, <3), (2, -9, (0, —1}, (1, —%)} \/
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7. A store bought a case of disposable cameras for $300. The stores profit p on the cameras is a
function of the number c of cameras sold. Find the range of the function p = 6¢ ~300, when the

domain is {0,15,50,62}.
peé-3, -, 0, 723

S(x+h)-f(x)

Find the difference quotient h for each function.
8. f(x) = x2+5x+6 3 9.f(x) = 2x-7x+11
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10. Graph the piecewise function f(x).

Bx-10  x<-2 P
f(x)={—4 2<x<2 \
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11. Graph the piecewise function f(x).

—(x+3)+4 x<-1 | Nk |
f(x)=12x —l<x<?2 ; . /\\
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12. Given the function s(t) = -16t2+10t+9, evaluate:

a.s(-1) -7 due s[t+2]’—](06é+7/)‘14 IUC&*L}*—%

T At 1) #10E €10 4
—let v 54t +2 5
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13. Find ;h_eldomaln of g(x). -@‘-{ E L +1lt€ —16S
a. g(x)=;c-E b.g(x)=Vv2—x

2-x70
Xi - | 22X



